Learning Objective: | can add and subtract 1 'IO & 'IOO

1.321 + 1 = 1.3251 + 1 = 1.3219 + 1 =
2.453 + 10 = 2.4753 + 10 = 2.4594 + 10 =
3.209 + 100 = 3.2639 + 100 = 3.2909 + 100 =
4.614-1 = 4.6214-1 = 4.6190-1 =
5.764-10 = 5.7485-10 = 5.7604-10 =
6. 497 - 100 = 6.4972-100 = 6. 4075 - 100 =
7.592 +1 = 7.6473 + 1 = 7.5929 + 1 =
8.473 + 10 = 8.5364 + 10 = 8.4704 + 10 =
9.194 + 100 = 9.1648 + 100 = 9. 1948 + 100 =
10. 536 -1 = 10. 3756 -1 = 10. 5360 -1 =

Roll 5 dice and make your own 5 digit number. Add and subtract 1, 10, 100 and 1000.
Chq"enge! Set it out however you choose to clearly show all your calculations.
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